RECENTLY RELEASED CPA QUESTIONS

FINANCIAL ACCOUNTING & REPORTING (2001 exam)

MULTIPLE-CHOICE QUESTIONS

1.  Bach Co. adopted the dollar-value LIFO inventory method as of January 

1, 2000. A single inventory pool and an internally computed price index

are used to compute Bach's LIFO inventory layers.  Information about 

Bach's dollar value inventory follows:




Inventory:

                        ----------             



at base  
at current

Date
      year cost         year cost

----          ---------         ----------

1/1/00
      $90,000 
        $90,000 

2000 layer     20,000            30,000 

2001 layer     40,000            80,000 

What was the price index used to compute Bach's 2001 dollar value LIFO

inventory layer?

A.  1.09

B.  1.25

C.  1.33

D.  2.00

2.  Nest Co. recorded the following inventory information during the month

of January:



              Unit      Total
Units   


           Units      cost      cost  
on hand

                   -----      ----      -----   -------

Balance on 1/1
   2,000      $ 1       $2,000
2,000  

Purchased on 1/8   1,200        3
 3,600
3,200  

Sold on 1/23
   1,800
   

1,400  

Purchased on 1/28    800
5
 4,000
2,200  

Nest uses the LIFO method to cost inventory.  What amount should Nest 

report as inventory on January 31 under each of the following methods of 

recording inventory?

   Perpetual
Periodic

   ---------   ---------

A.  $2,600      $5,400

B.  $5,400      $2,600

C.  $2,600      $2,600

D.  $5,400      $5,400

3.   On December 31, 2000, Byte Co. had capitalized software costs of

$600,000 with an economic life of four years.  Sales for 2001 were 10% of

expected total sales of the software. At December 31, 2001, the software 

had a net realizable value of $480,000. In its December 31, 2001 balance 

sheet,what amount should Byte report as net capitalized cost of computer 

software?

A.  $432,000

B.  $450,000

C.  $480,000

D.  $540,000

4.   Jole Co. lent $10,000 to a major supplier in exchange for a non

interest-bearing note due in three years and a contract to purchase a 

fixed amount of merchandise from the supplier at a 10% discount from 

prevailing market prices over the next three years. The market rate for 

a note of this type is 10%. On issuing the note, Jole should record

   Discount on 

  note receivable    Deferred charge 

 ----------------    ---------------

A.  Yes               Yes 

B.  Yes               No 

C.  No                Yes 

D.  No                No

5.  Plack Co. purchased 10,000 shares (2% ownership) of Ty Corp. on

February 14, 2001. Plack received a stock dividend of 2,000 shares on 

April 30, 2001, when the market value per share was $35. Ty paid a cash 

dividend of $2 per share on December 15, 2001. In its 2001 income 

statement, what amount should Plack report as dividend income?

A.  $20,000

B.  $24,000

C.  $90,000

D.  $94,000

6. Puff Co. acquired 40% of Straw, Inc.'s voting common stock on 

January 2, 2001, for $400,000. The carrying amount of Straw's net assets

at the purchase date totaled $900,000. Fair values equaled carrying 

amounts for all items except equipment, for which fair values exceeded 

carrying amounts by $100,000. The equipment has a five-year life. Puff's

policy is to amortize goodwill over ten years.  During 2001, Straw reported 

net income of $150,000. What amount of income from this investment should 

Puff report in its 2001 income statement?

A.  $40,000

B.  $52,000

C.  $56,000

D.  $60,000

7.  A business combination is accounted for as a purchase. Which of the

following expenses related to the business combination should be included,

in total, in the determination of net income of the combined corporation

for the period in which the expenses are incurred?

    Fees of finders     Registration fees for

    and consultants     equity securities issued

    ---------------     ------------------------

A.  Yes
                Yes

B.  Yes
                No

C.  No
                Yes

D.  No
                No

8.  Which of the following disclosures is not required of companies with a

defined-benefit pension plan?

A.  A description of the plan.

B.  The amount of pension expense by component.

C.  The weighted average discount rate.

D.  The estimates of future contributions.

9.  For a troubled debt restructuring involving only a modification of

terms, which of the following items specified by the new terms would be

compared to the carrying amount of the debt to determine if the debtor

should report a gain on restructuring?

A.  The total future cash payments.

B.  The present value of the debt at the original interest rate.

C.  The present value of the debt at the modified interest rate.

D.  The amount of future cash payments designated as principal repayments.

10.   Green, a calendar-year taxpayer, is preparing a personal statement of

financial condition as of April 30, 2001. Green's 2000 income tax liability

was paid in full on April 15, 2001. Green's tax on income earned between

January and April 2001 is estimated at $20,000. In addition, $40,000 is

estimated for income tax on the differences between the estimated current

values and current amounts of Green's assets and liabilities and their tax

bases at April 30, 2001. No withholdings or payments have been made towards

the 2001 income tax liability. In Green's April 30, 2001, statement of

financial condition, what amount should be reported, between liabilities and

net worth, as estimated income taxes?

A.  $0

B.  $20,000

C.  $40,000

D.  $60,000

RECENTLY RELEASED CPA QUESTIONS

TAX-MAN-GOV (2001 exam)

Gov

1.  Stanton College, a not-for-profit organization, received a building with

no donor stipulations as to its use. Stanton does not have an accounting

policy implying a time restriction on donated assets. What type of net

assets should be increased when the building was received?

I.   Unrestricted.

II.  Temporarily restricted.

III. Permanently restricted.

A.  I only.

B.  II only.

C.  III only.

D.  II or III.

2.  Hunt Community Development Agency (HCDA), a financially independent

authority, provides loans to commercial businesses operating in Hunt 

County. This year, HCDA made loans totaling $500,000. How should HCDA 

classify the disbursements of loans on the cash flow statement?

A.  Operating activities.

B.  Noncapital financing activities.

C.  Capital and related financing activities.

D.  Investing activities.

3.  Chase City uses an internal service fund for its central motor pool. 

The assets and liabilities account balances for this fund that are not

eliminated normally should be reported in the government-wide statement 

of net assets as

A.  Governmental activities

B.  Business-type activities

C.  Fiduciary activities

D.  Note disclosures only

4.  Property taxes and fines represent which of the following classes

of nonexchange transactions for governmental units?

A.  Derived tax revenues

B.  Imposed nonexchange revenues

C.  Government-mandated nonexchange transactions

D.  Voluntary nonexchange transactions

5.  Dogwood City's water enterprise fund received interest of $10,000

on long-term investments. How should this amount be reported on the 

Statement of Cash Flows?

A.  Operating activities

B.  Non-capital financing activities

C.  Capital and related financing activities

D.  Investing activities

6.  Cedar City issues $1,000,000, 6% revenue bonds  were issued at par

on April 1, to build a new water line for the water enterprise fund. 

Interest is payable every six months.  What amount of interest expense 

should be reported for the year ended December 31?

A.  $0

B.  $30,000

C.  $45,000

D.  $60,000

7.  Which of the following statements about the statistical section 

of the Comprehensive Annual Financial Report (CAFR) of a governmental 

unit is true?

A.  Statistical tables may not cover more than two fiscal years.

B.  Statistical tables may not include nonaccounting information.

C.  The statistical section in not part of the basic financial statements.

D.  The statistical section in an integral part of the basic financial 

statements.

8.  The statement of activities of the government-wide financial 

statements is designed primarily to provide information to assess which 

of the following?

A.  Operational accountability.

B.  Financial accountability.

C.  Fiscal accountability.

D.  Functional accountability.

9.  Japes City issued $1,000,000 general obligation bonds at 101 to 

build a new city hall. As part of the bond issue, the city also paid a 

$500 underwriter fee and $2,000 in debt issue costs. What amount should 

Japes City report as other financing sources? 

A.  $1,010,000

B.  $1,008,000

C.  $1,007,500

D.  $1,000,000

10.  Pharm, a nongovernmental not-for-profit organization, is preparing

its year-end financial statements.  Which of the following statements is

required?

A.  Statement of changes in financial position.

B.  Statement of cash flows.

C.  Statement of changes in fund balance.

D.  Statement of revenue, expenses and changes in fund balance.

Managerial

1.  Which of the following is true about activity-based costing?

A.  It should not be used with process or job costing.

B.  It can be used only with process costing.

C.  It can be used only with job costing.

D.  It can be used with either process or job costing

2.  Kerner Manufacturing uses a process cost system to manufacture 

laptop computers. The following information summarizes operations relating

to laptop computer model #KJK20 during the quarter ending March 31:

                                                               Direct

                                             Units         Materials

                                            ------             ----------

Work-in-process inventory, 

 January 1                             100             $ 70,000  

Started during the quarter        500

Completed during the quarter   400

Work-in-process inventory, 

 March 31                              200

Costs added during the quarter                 $750,000 

Beginning work-in-process inventory was 50% complete for direct materials.

Ending work-in-process inventory was 75% complete for direct materials. 

What were the equivalent units of production with regard to materials for 

March? 

A.  450

B.  500

C.  550  

D.  600

3.  Baby Frames, Inc., evaluates manufacturing overhead in its factory by

using variance analysis.  The following information applies to the month 

of May:

                                                        Actual

Budgeted

                                                         --------

----------

Number of frames manufactured          19,000                     20,000

Variable overhead costs
         $ 4,100              $2 per direct

labor hour

Fixed overhead costs                       $22,000

$20,000

Direct labor hours                       2,100 hours
              0.1

hour

per frame

What is the fixed overhead spending variance?

A.  $1,000 favorable

B.  $1,000 unfavorable

C.  $2,000 favorable

D.  $2,000 unfavorable

4.  Which of the following is a  strength of the payback method?

A.  It considers cash flows for all years of the project.

B.  It distinguishes the sources of cash inflows.  

C.  It considers the time value of money.

D.  It is easy to understand.

5.  Kerner Manufacturing uses a process cost system to manufacture 

laptop computers. The following information summarizes operations 

relating to laptop computer model #KJK20 during the quarter ending 

March 31:

Direct   

                                                                     Units

Materials

                                                                      -----

---------

Work-in-process inventory, January 1                100      $ 50,000

Started during the quarter                                 500

Completed during the quarter                            400

Work-in-process inventory, March 31                 200

Costs added during the quarter                                    $720,000

Beginning work-in-process inventory was 50% complete for direct materials.

Ending work-in-process inventory was 75% complete for direct materials. 

What is the total value of material costs in ending work-in-process 

inventory using the FIFO unit cost, inventory valuation method?

A.  $183,000

B.  $194,000

C.  $210,000

D.  $216,000

6.   To determine the inventory reorder point, calculations normally 

include the

A.  Ordering cost.

B.  Carrying cost.

C.  Average daily usage.

D.  Economic order quantity.

7.  Given that demand exceeds capacity, that there is no spoilage or 

waste, and that there is full utilization of a constant number of assembly 

hours, the number of components needed for an assembly operation with an 80

percent learning curve should

I.   Increase for successive periods.

II.  Decrease per unit of output.

A.  I only.

B.  II only.

C.  Both I and II.

D.  Neither I nor II.

8.  Rework costs should be regarded as a cost of quality in a manufacturing

company's quality control program when they are

 I.  Caused by the customer.

II.  Caused by internal failure.

A.  I only.

B.  II only.

C.  Both I and II.

D.  Neither I nor II.

9.  In its first year of operations, Magna Manufacturers had the following

costs when it produced 100,000 and sold 80,000 units of its only product:

Manufacturing costs:   Fixed     $180,000

                              Variable
  160,000

Selling & admin. 

  costs:                      Fixed       90,000

                             Variable       40,000

How much lower would Magna's net income be if it used variable costing

instead of full absorption costing?

A.  $36,000

B.  $54,000

C.  $68,000

D.  $94,000

10.  Rolling Wheels purchases bicycle components in the month prior to

assembling them into bicycles. Assembly is scheduled one month prior to

budgeted sales. Rolling pays 75% of component costs in the month of 

purchase and 25% of the costs in the following month. Component costs 

included in budgeted cost of sales are:

         April         May     June     July       August

         ------           ---        ----        ----          ------


$5,000   $6,000   $7,000   $8,000   $8,000

What is Rolling's budgeted cash payments for components in May?

A.  $5,750

B.  $6,750

C.  $7,750

D.  $8,000

Taxation

1.  Carroll, an unmarried taxpayer with an adjusted gross income of

$100,000, incurred and paid the following unreimbursed medical expenses

for the year:

Doctor bills resulting from a serious fall        $   5,000

Cosmetic surgery that was necessary

  to correct a congenital deformity                  15,000

Carroll had no medical insurance. For regular income tax purposes, what

was Carroll's maximum allowable medical expense deduction, after the 

applicable threshold limitation, for the year?

A.  $0

B.  $12,500

C.  $15,000

D.  $20,000

2.  Adams owns a second residence that is used for both personal and 

rental purposes.  During 2001, Jackson used the second residence for 50 

days and rented the residence for 200 days. Which of the following 

statements is correct?

A.  Depreciation may not be deducted on the property under any 

circumstances.

B.  A rental loss may be deducted if rental-related expenses exceed 

rental income.

C.  Utilities and maintenance on the property must be divided between 

personal and rental use.

D.  All mortgage interest and taxes on the property will be deducted to 

determine the property's net income or loss.

3.  Which of the following conditions must be satisfied for a taxpayer to

expense, in the year of purchase, under Internal Revenue Code Section 179,

the cost of new or used tangible depreciable personal property?

I.   The property must be purchased for use in the taxpayer's active

     trade or business.

II.  The property must be purchased from an unrelated party.

A.  I only.

B.  II only.

C.  Both I and II.

D.  Neither I nor II.

4.  Mock operates a retail business selling illegal narcotic substances.

Which of the following item(s) may Mock deduct in calculating business

income?

 I.   Cost of merchandise.

II.   Business expenses other than the cost of merchandise.

A.  I only

B.  II only

C.  Both I and II

D.  Neither I nor II

5.  A taxpayer filed his income tax return after the due date but neglected

to file an extension form. The return indicated a tax liability of $50,000

and taxes withheld of $45,000. On what amount would the penalties for late

filing and late payment be computed?

A.  $0

B.  $5,000

C.  $45,000

D.  $50,000

6.  Freeman, a single individual, reported he following income in the

current year:

   Guaranteed payment from services

      rendered to a partnership              $50,000

   Ordinary income from an S corporation     $20,000

What amount of Freeman's income is subject to self-employment tax?

A.  $0

B.  $20,000

C.  $50,000

D.  $70,000

7.  Which of the following conditions must be present in a post-1984 

divorce agreement for a payment to qualify as deductible alimony?

 I.  Payments must be in cash.

II.  The payments must end at the recipient's death.

A.  I only.

B.  II only.

C.  Both I and II.  

D.  Neither I nor II.

8.  Which of the following costs is not included in inventory under the

Uniform Capitalization rules for goods manufactured by the taxpayer?

A.  Research

B.  Warehousing costs

C.  Quality control

D.  Taxes excluding income taxes

9.  Which of the following taxpayers may use the cash method of accounting?

A.  A tax shelter

B.  A qualified personal service corporation

C.  A C corporation with annual gross receipts of $50,000,000

D.  A manufacturer

10.  Darr, an employee of Sorce C corporation, is not a shareholder. 

Which of the following would be included in a taxpayer's gross income?

A.  Employer-provided medical insurance coverage under a health plan.

B.  A $10,000 gift from the taxpayer's grandparents.

C.  The fair market value of land that the taxpayer inherited from an 

uncle.

D.  The dividend income on shares of stock that the taxpayer received 

for services rendered.

RECENTLY RELEASED CPA QUESTIONS

BUSINESS LAW AND PROFESSIONAL RESPONSIBILITIES (2001 exam)

MULTIPLE-CHOICE QUESTIONS

1.  Kar, CPA, is a staff auditor participating in the audit engagement of

Fort, Inc. Which of the following circumstances impairs Kar's 

independence?

A.  During the period of the professional engagement, Fort gives Kar 

tickets to a football game worth $75.

B.  Kar owns stock in a corporation that Fort's 401(k) plan also 

invests in.

C.  Kar's friend, an employee of another local accounting firm, prepares 

Fort's tax returns.

D.  Kar's sibling is an internal auditor employed part-time by Fort. 

2.  On June 1, 2000, a CPA obtained a $100,000 personal loan from a

financial institution client for whom the CPA provided compilation 

services. The loan was fully secured and considered material to the CPA's 

net worth. The CPA paid the loan in full on December 31, 2000. On 

April 3, 2001, the client asked the CPA to audit the client's financial 

statements for the year ended December 31, 2001. Is the CPA considered 

independent with respect to the audit of the client's December 31, 2001, 

financial statements? 

A.  Yes, because the loan was fully secured.

B.  Yes, because the CPA was not required to be independent at the time 

the loan was granted.

C.  No, because the CPA had a loan with the client during the period of 

a professional engagement.

D.  No, because the CPA had a loan with the client during the period covered

by the financial statements.

3.  Which of the following statements is (are) correct regarding a CPA

employee of a CPA firm taking copies of information contained in client

files when the CPA leaves the firm?

I.  A CPA leaving a firm may take copies of information  contained 

    in client files to assist another firm in serving that client.

II.  A CPA leaving a firm may take copies of information contained in 

     client files as a method of gaining technical expertise.

A.  I only.

B.  II only.

C.  Both I and II.

D.  Neither I nor II.

4.  Which of the following statements is correct regarding an 

accountant's working papers?

A.  The accountant owns the working papers and generally may disclose 

them as the accountant sees fit. 

B.  The client owns the working papers but the accountant has custody

of them until the accountant's bill is paid in full.

C.  The accountant owns the working papers but generally may not disclose 

them without the client's consent or a court order.

D.  The client owns the working papers but, in the absence of the 

accountant's consent, may not disclose them without a court order.

5.  Lee repairs high-speed looms for Sew Corp., a clothing manufacturer.

Which of the following circumstances best indicates that Lee is an 

employee of Sew and not an independent contractor?

A.  Lee's work is not supervised by Sew personnel.

B.  Lee's tools are owned by Lee.

C.  Lee is paid weekly by Sew.

D.  Lee's work requires a high degree of technical skill.

6.  Blue, a used car dealer, appointed Gage as an agent to sell Blue's 

cars. Gage was authorized by Blue to appoint subagents to assist in the 

sale of the cars. Vond was appointed as a sub-agent. To whom does Vond 

owe a fiduciary duty?

A.  Gage only.

B.  Blue only.

C.  Both Blue and Gage.

D.  Neither Blue nor Gage.

7.  Wind, who has been a partner in the PLW general partnership for four

years, decides to withdraw from the partnership despite a written

partnership agreement that states, "no partner may withdraw for a period

of five years." Under the Uniform Partnership Act, what is the result of 

Wind's withdrawal?

A.  Wind's withdrawal causes a dissolution of the partnership by operation 

of law.

B.  Wind's withdrawal has no bearing on the continued operation of the 

partnership by the remaining partners.

C.  Wind's withdrawal is not effective until Wind obtains a court ordered

decree of dissolution.

D.  Wind's withdrawal causes a dissolution of the partnership despite being 

in violation of the partnership agreement.

8.  In a general partnership, which of the following acts must be approved

by all the partners?

A.  Dissolution of the partnership.

B.  Admission of a partner.

C.  Authorization of a partnership capital expenditure.

D.  Conveyance of real property owned by the partnership.

9.  Case Corp. is incorporated in State A. Under the Revised Model 

Business Corporation Act, which of the following activities engaged in by 

Case requires that Case obtain a certificate of authority to do business 

in State B?

A.  Maintaining bank accounts in State B.

B.  Collecting corporate debts in State B.

C.  Hiring employees who are residents of state B.

D.  Maintaining an office in State B to conduct intrastate business.

10.  Which of the following statements is(are) correct regarding the 

methods a target corporation may use  to ward off a takeover attempt?

I.  The target corporation may make an offer ("self- tender") to 

    acquire stock from its own shareholders.

II. The target corporation may seek an injunction against the acquiring

    corporation on the grounds that the attempted takeover violates 

    federal antitrust law.

A.  I only.

B.  II only.

C.  Both I and II.

D.  Neither I nor II.

11.  Acorn Corp. wants to acquire the entire business of Trend Corp. Which

of the following methods of business combination will best satisfy Acorn's

objectives without requiring the approval of the shareholders of either

corporation?

A.  A merger of Trend into Acorn, whereby Trend shareholders receive cash 

or Acorn shares.

B.  A sale of all the assets of Trend, outside the regular course of 

business, to Acorn, for cash.

C.  An acquisition of all the shares of Trend through a compulsory share 

exchange for Acorn shares.

D.  A cash tender offer, whereby Acorn acquires at least 90% of Trend's 

shares, followed  by a short-form merger of Trend into Acorn.

12.  Green was adjudicated incompetent by a court having proper

jurisdiction. Which of the following statements is correct regarding

contracts subsequently entered into by Green?

A.  All contracts are voidable.

B.  All contracts are valid.

C.  All contracts are void.

D.  All contracts are enforceable.

13.  Which of the following actions if taken by one party to a contract

generally will discharge the performance required of the other party to the

contract?

A.  Material breach of the contract.

B.  Delay in performance.

C.  Tender.

D.  Assignment of rights.

14.  Which of the following events will release a noncompensated surety

from liability to the creditor?

A.  The principal debtor was involuntarily petitioned into bankruptcy.

B.  The creditor failed to notify the surety of a partial surrender of the 

principal debtor's collateral.

C.  The creditor was adjudicated incompetent after the debt arose.

D.  The principal debtor exerted duress to obtain the  surety agreement.

15.  Dean, Inc., a publicly traded corporation, paid a $10,000 bribe to a

local zoning official. The bribe was recorded in Dean's financial 

statements as a consulting fee. Dean's unaudited financial statements were 

submitted to the SEC as part of a quarterly filing. Which of the following

federal statutes did Dean violate?

A.  Federal Trade Commission Act.

B.  Securities Act of 1933.

C.  Securities Exchange Act of 1934.

D.  North American Free Trade Act.

16.  Which of the following parties generally is ineligible to collect

workers' compensation benefits?

A.  Minors.

B.  Truck drivers.

C.  Union employees.

D.  Temporary office workers.

17.  Under the Negotiable Instruments Article of the UCC, an endorsement

of an instrument "for deposit only" is an example of what type of 

endorsement?

A.  Blank.

B.  Qualified.

C.  Restrictive.

D.  Special. 

18.  Patch, a frequent shopper at Soon-Shop Stores, received a rain check

for an advertised sale item after Soon-Shop's supply of the product ran 

out. The rain check was in writing and stated that the item would be 

offered to the customer at the advertised sale price for an unspecified

period of time. A Soon-Shop employee signed the rain check. When Patch 

returned to the store one month later to purchase the item, the store

refused to honor the rain check. Under the Sales Article of the UCC, will 

Patch win a suit to enforce the rain check?

A.  No, because one month is too long a period of time for a rain check 

to be effective.

B.  No, because the rain check did not state the effective time period 

necessary to keep the offer open.

C.  Yes, because Soon-Shop is required to have sufficient supplies of the 

sale item to satisfy all customers.

D.  Yes, because the rain check met the requirements of a merchant's firm 

offer even though no effective time period was stated.

19.  A sheep rancher agreed, in writing, to sell all the wool shorn during

the shearing season to a weaver. The contract failed to establish the 

price and a minimum quantity of wool. After the shearing season, the 

rancher refused to deliver the wool. The weaver sued the rancher for 

breach of contract. Under the Sales Article of the UCC, will the weaver 

win?

A.  Yes, because this was an output contract.

B.  Yes, because both price and quantity terms were omitted.

C.  No, because quantity cannot be omitted for a contract to be enforceable.

D.  No, because the omission of price and quantity terms prevents the 

formation of a contract.

20.  Under the Documents of Title Article of the UCC, which of the 

following statements is(are) correct regarding a common carrier's duty to 

deliver goods subject to a negotiable, bearer bill of lading?

I   The carrier may deliver the goods to any party designated by the holder 

    of the bill of lading.

II. A carrier who, without court order, delivers goods to a party claiming 

    the goods under a missing negotiable bill of lading is liable to any 

    person injured by the misdelivery.

A.  I only.

B.  II only.

C.  Both I and II.

D.  Neither I nor II.

RECENTLY RELEASED CPA QUESTIONS

AUDITING (2001 exam)

MULTIPLE-CHOICE QUESTIONS

1.  A CPA in public practice is required to comply with the provisions

of the Statements on Standards for Attestation Engagements (SSAE) when

Testifying as an expert witness        Compiling a client's financial

in accounting and auditing             projection that presents a

matters given stipulated facts         hypothetical course of action

------------------------------         -----------------------------

A.
Yes                            Yes

B.
Yes                            No

C.
No                             Yes

D.
No                             No


2.  Which of the following factors most likely would cause a CPA to not 

accept a new audit engagement?

A.  The prospective client has already completed its physical inventory

count.

B.  The CPA lacks an understanding of the prospective client's

operations and industry.

C.  The CPA is unable to review the predecessor auditor's working

papers.

D.  The prospective client is unwilling to make all financial records

available to the CPA.

3. Which of the following factors most likely would heighten an auditor's 

concern about the risk of fraudulent financial reporting?

A.  Large amounts of liquid assets that are easily convertible into

cash.

B.  Low growth and profitability as compared to other entity's in the

same industry.

C.  Financial management's participation in the initial selection of

accounting principles.

D.  An overly complex organizational structure involving unusual lines

of authority.

4.  An auditor suspects that certain client employees are ordering 

merchandise for themselves over the Internet without recording

the purchase or receipt of the merchandise. When vendors' invoices arrive,

one of the employees approves the invoices for payment. After the invoices

are paid, the employee destroys the invoices and the related vouchers. In

gathering evidence regarding the fraud, the auditor most likely would 

select items for testing from the file of all

A. Cash disbursements.

B. Approved vouchers.

C. Receiving reports.

D. Vendors' invoices.

5.  Which of the following is a computer program that appears to be 

legitimate but performs some illicit activity when it is run?

A.  Hoax virus.

B.  Web crawler.

C.  Trojan horse.

D.  Killer application.

6.  Which of the following procedures would an entity most likely include 

in its disaster recovery plan?

A.  Convert all data from EDI format to an internal company format.

B.  Maintain a trojan horse program to prevent illicit activity.

C.  Develop an auxiliary power supply to provide uninterrupted

electricity.

D.  Store duplicate copies of files in a location away from the computer

center.

7.  Which of the following characteristics distinguishes electronic data 

interchange (EDI) from other forms of electronic commerce?

A.  EDI transactions are formatted using standards that are uniform

worldwide.

B.  EDI transactions need not comply with generally accepted accounting

principles.

C.  EDI transactions ordinarily are processed without the Internet.

D.  EDI transactions are usually recorded without security and privacy

concerns.

8.  In reviewing the financial statements of a nonpublic entity, an 

accountant is required to modify the standard review report for

which of the following matters?

  Inability to assess the risk        Discovery of significant deficiencies

  of material misstatement            in the design of the entity's

  due to fraud                        internal control

  ---------------------------         -----------------------------------

A.
Yes                           Yes

B.
Yes                           No

C. 
No                            Yes

D.
No                            No

9.  Which of the following is an encryption feature that can be used to 

authenticate the originator of a document and ensure that the message is 

intact and has not been tampered with?

A.  Heuristic terminal.

B.  Perimeter switch.

C.  Default settings.

D.  Digital signatures.

10.  To be effective, analytical procedures in the overall review stage of an 

audit engagement should be performed by 

A.  The staff accountant who performed the substantive auditing

procedures.

B.  The managing partner who has responsibility for all audit

engagements at that practice office.

C.  A manager or partner who has a comprehensive knowledge of the

client's business and industry.

D.  The CPA firm's quality control manager or partner who has

responsibility for the firm's peer review program.

11.  After considering an entity's negative trends and financial 

difficulties, an auditor has substantial doubt about the entity's

ability to continue as a going concern. The auditor's considerations

relating to management's plans for dealing with the adverse effects of 

these conditions most likely would include management's plans to 

A.  Increase current dividend distributions.

B.  Reduce existing lines of credit.

C.  Increase ownership equity.

D.  Purchase assets formerly leased.

12.  Which of the following procedures would an auditor most likely perform

during an audit engagement's overall review stage in formulating an opinion 

on an entity's financial statements?

A.  Obtain assurance from the entity's attorney that all material

litigation has been disclosed in the financial statements.

B.  Verify the clerical accuracy of the entity's proof of cash and its

bank cutoff statement.

C.  Determine whether inadequate provisions for the safeguarding of

assets have been corrected.

D.  Consider whether the results of audit procedures affect the

assessment of the risk of material misstatement due to fraud.

13.  Mill, CPA, was engaged by a group of royalty recipients to apply 

agreed-upon procedures to financial data supplied by Modern Co. regarding 

Modern's written assertion about its compliance with contractual 

requirements to pay royalties. Mill's report on these agreed-upon 

procedures should contain a (an)

A.  Disclaimer of opinion about the fair presentation of Modern's

financial statements.

B.  List of the procedures performed (or reference thereto) and Mill's

findings.

C.  Opinion about the effectiveness of Modern's internal control

activities concerning royalty payments.

D.  Acknowledgment that the sufficiency of the procedures is solely

Mill's responsibility. 

14.  Which of the following matters would an auditor most likely consider

to be a reportable condition to be communicated to the audit committee?

A.  Management's failure to renegotiate unfavorable long-term purchase

commitments.

B.  Recurring operating losses that may indicate going concern problems.

C.  Evidence of a lack of objectivity by those responsible for

accounting decisions.

D.  Management's current plans to reduce its ownership equity in the

entity.

15.  An auditor who wishes to capture an entity's data as transactions are

processed and continuously test the entity's computerized information system 

most likely would use which of the following techniques?

A.  Snapshot application.

B.  Embedded audit module.

C.  Integrated data check.

D.  Test data generator.

16.  Dunn, CPA, is auditing the financial statements of Taft Co. Taft uses 

Quick Service Center (QSC) to process its payroll. Price, CPA, is expressing

an opinion on a description of the controls placed in operation at QSC 

regarding the processing of its customers' payroll transactions. Dunn expects

to consider the effects of Price's report on the Taft engagement. Price's 

report should contain a (an)

A.  Description of the scope and nature of Price's procedures.

B.  Statement that Dunn may assess control risk based on Price's report.

C.  Assertion that Price assumes no responsibility to determine whether

QSC's controls are suitably designed.

D.  Opinion on the operating effectiveness of QSC's internal controls.

17.  Which of the following computer-assisted auditing techniques processes 

client input data on a controlled program under the auditor's control to 

test controls in the computer system?

A.  Test data.

B.  Review of program logic.

C.  Integrated test facility.

D.  Parallel simulation.

18.  In building an electronic data interchange (EDI) system, what process 

is used to determine which elements in the entity's computer system 

correspond to the standard data elements?

A.  Mapping.

B.  Translation.

C.  Encryption.

D.  Decoding.

19.  Which of the following is a password security problem?

A.  Users are assigned passwords when accounts are created, but do not

change them.

B.  Users have accounts on several systems with different passwords.

C.  Users copy their passwords on note paper, which is kept in their

wallets.

D.  Users select passwords that are not listed in any online dictionary.

20.  Which of the following passwords would be most

difficult to crack?

A.  OrCa!FlSi

B.  language

C.  12 HOUSE 24

D.  pass56word

